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ECONOMICS

[GENERAL]
Paper : 11
Full Marks : 100 Time : 3 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

Answer all the questions.

1.  Answer any six questions: 1x6=6
(- (I 2 2o Tet ls ¢
a)  What is ‘Philips Curve’?
“Refersit (@2l P e 2
b)  What is shut-down point?
Tes{ne e 7 Fi0 061 2
c¢)  What is the relation between VMP and MRP if

there is perfect competition in product market?
sjefiet efsraifarelz qreita VMP €38 MRP-43 STt
TS 2

d) What is the difference between gross

investment and net investment?

&5 [fScns e S5 [N s sl e
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g)

h)

Mention two monetary measures for the control

of inflation.

it e 7t =i mafoq T 74|
What is ‘Real Wage’?

‘4O TGR FIE A0 ?

Write down the conditions of profit
maximization of a firm.

(I I oI AR =S @ feT SN 41 |

What is 'product differentiation' in monopolistic
competition?

G BRI ARSI Ty 7L HICE e 2

2. Answer any eleven questions from the following:

2x11=22

@ QN amF Tea wie ¢

a)

b)

c)

d)

43(A)/1

Distinguish between 'VMP' and '"MRP".

“VMP’ 438 ‘MRP*-43 & A4 S 2

What is 'price discrimination' of first degree?
Y W VI AL P 0 2

What do you mean by ‘collective bargaining’?
‘1 EPAITR A0 F (R 2

Define the concept of 'group' in monopolistic

competitive market.

GGl AfSRTORETS e apal-as Qi=elifGa
&R 71 |
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g)

h)

i)

k)

D

m)

43(A)/1

What is super-normal profit?

wfefte A SHeliRe JIw FIE =12

What type of demand curve does a firm face in
a perfectly competitive market? Why?
sJof-eferaiferees e @i T [ @ vz
GRS YA B 2 (e 2

What is the difference between autonomous

investment and induced investment?

Fge Kol ¢ Tge [fecsm sy #14 [
Define IS-Curve.

[S-C1s i]es] 7l |

Mention two adverse effects of inflation.
Surifon 1t st geR Tige 4|

What is ‘liquidity trap’?

SIEn ¥ 2

Mention different components of money

demand function.

e« vifenl SR [fen TovaetE @2

Why price and marginal revenue are equal in

perfect competition?

5{of efStRforera QeI i G e i 7ol 22 (el 2
What is quasi rent?
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n)

Write Fisher’s Equation in quantity theory of

money.

wfq AT org Reiiea ANt @9

3.  Answer any seven questions from the following:

6x7=42
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a)

b)

d)

43(A)/1

Discuss in brief quantity theory of money.
S #IfEalel ©g L WA T4 |

Define ‘Breakeven Point’ and ‘Shutdown Point’
of a firm. Explain with a diagram.

@ DI SR AT 7 ¢ Teove I
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'"There is no unique supply curve for
monopolist'— explain.
oA SN (S WS @iofe = Qe /v
— T AT

Discuss the features of an oligopoly market.

wifercalisifer et (AR SIicetval we |

Discuss the limitations of the bargaining
strength of the trade union.
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SIS FCE |



g)

h)

How would you derive the demand curve for

labour?

S Bifawl @2t e w541

Find out the ‘rent’ element in the earning of

factors of production other than land.

TN BT S CAVIE SR M AS=E S
fesrae 4 |

Graphically discuss the derivative of the

IS-curve.

IS @ = 2GS Ao F4 |

Mention the difference between demand pull

inflation and cost-push inflation.

SifEvaeTee JErHie @ RIEee JurHied sy
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Answer any three questions from the following:

10x3=30

@I foa® s Tea nie ¢

a)

b)
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Discuss different causes of inflation. What are

the different measures to control inflation?

fa
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1)  Briefly discuss how monopoly causes the

social welfare loss.
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d)

43(A)/1

GF oI e el Amfes e
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i1) What are different types of price
discrimination in monopoly?  7+3=10
GG AGIER A-2|AFF0 T AFIEA
237

Describe the difference between Ricardian Rent

theory and Modern Rent theory.

AR FIEIR ©g € Syl red S A1y
Sl

Under what circumstances can a trade
union raise both wage-rate and the level of

employment simultaneously?
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Graphically explain the long-run equilibrium of

a perfectly competitive firm.
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